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C:7) 
CD 
CD 	ELECTIVE COURSE : ECONOMICS 
O 
(=) 	EEC-07 : INDUSTRIAL DEVELOPMENT 

IN INDIA 
Time : 3 hours 	 Maximum Marks : 100 

(Weightage 70%) 

Note : Attempt questions from each section as per instructions 
given under each section. 

SECTION - A 

Answer any two questions from this section in 

about 500 words each. 

1. What do you understand by balanced regional 20 
development ? Discuss the causes of regional 
disparities. How can the regional disparities be 
removed ? 

2. What is the significance of the concept of capacity 20 
utilization ? How to measure capacity utilization ? 
Discuss long term trends in capacity utilization 
in India. 

3. Explain the concept of industrial competition. 20 
Also present arguments in favour of industrial 
competition. 

4. Critically review the industrial policy of 1991. 	20 
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SECTION - B 

Answer any four questions from this section in 
about 250 words each. 

5. Explain the various pricing principles and 12 
techniques followed by business firms in India. 

6. How does industrialization affect size and 12 
composition of GDP ? Discuss. 

7. Differentiate between village and small scale 4+8 
industries. Critically examine the policy relating 

to small scale industries in India. 

8. What has been the pattern of industrial growth 8+4 
since 1980s in India ? How is this pattern different 

from the earlier period ? 

9. "The process of industrialization does confront a 12 
number of barriers, which can be rackled 

systematically." Discuss briefly. 

10. Examine the legislative provision relating to 12 
payment of wages in India. 

EEC-07 	 2 



SECTION - C 

Answer as per directions in about 100 words 

each. 

11. Differentiate between any two of the following : 6x2=12 

(a) Forward and Backward Linkages. 

(b) Use - based and Input - based classification 

of Indian Industries. 

(c) Economics of scale and economies of scope. 
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